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9 clocks

tl c
tl d
tl urgent
tl arr x
t2 c
t2 d
t2 urgent
t2 arr x

CPU1 _urgent

2 parameters

Initial

2 discrete

tl arr P
t2 arr P

tl inst
t2 inst

t2 arr P >=0
& tl arr P >=
&t2 d=

& tl arr P =1tl arr x
& t1 urgent = 0
&tl d=0
&tl c=0
& t2 arr P =t2 arr x
& t2 urgent = 0
& CPU1 urgent =0

Task tl

l

(tl_loc_idle

True )

tl arr event
t1 urgent := O;

& (tl_loc_act_event

0>= tl_urgent]

[tl _loc_act

tl arr P>=t1 d)

tl urgent =0
tl arr
tl c:=0; tl1 d:=0; tl inst:=1;

stop tl c

tl d >=tl arr P
tl miss

tl arr event

~

1 arr eveld i1 inst .= t1 inst + 1; t1 d:= 0;
tl dis
t1 loc exe tl arr P>=t1 d
— = & 2*%tl inst >=t1

El arr eveid
C j—

2*t1 inst > tl ¢
& tl d>=tl arr P

(tl_loc_miss ‘ True]

~t1 miss

Periodic t1 arr

l

Task t2

(t 1 arr loc arr

tl arr P =tl arr x
tl arr P >=tl _arr_x)? tl arr event

l

Periodic t2 arr

l

(tZ_loc_idle

[tZ_arr_loc_arr
tl arr x := 0;

tl ¢ = 2*t1 inst
tl end

t2 arr P >=t2 arr X\

_

True]
t2 arr event

t2 urgent := 0;

(tZ_loc_act_event

0>= t2_urgent]

t2 urgent = 0
t2 arr
t2 c:=0; t2d:=0; t2inst:=1;

t2 ¢ = 2*t2 inst
t2 end

[tz_loc_act

t2 arr P >= t2_d\

t2 arr event
stop t2 c '

t2 inst := t2 inst + 1; t2 d:= 0;

t2 arr eveni

tl arr event
tl inst:=tl inst+1; tl1 d:=0;

t2 pre t2 dis

t2 d >=1t2 arr P
t2 miss

t2 arr P>=t2 d

_arr _ t2 arr event
& 2*t2 inst >= t2_c/-

t2_loc_exe t2 inst := t2 inst + 1; t2 d:= 0;

t2 arr eveni

2*t2 inst > t2 ¢
& t2 d>=1t2 arr P
t2 miss

(tZ_loc_miss ‘ True]

sched_CPU1 (CPUl_loc_stop True] OBS_dline

l l
[CPUl_loc_ Truej‘_ N

4
' t2 arr
CPU1 urgent := 0;

t2 arr P = t2 arr x
t2 arr event
t2 arr x := 0;

(dline_loc_nomiss

True]

tl missit2 miss

tl arr
CPU1 urgent := 0;

(CPUl_loc_Atl

(dline_loc_miss

0>= CPUl_urgent]

True]

CPULurgent =0 cpy1 urgent = 0 [CPUl_loc_AtZ 0 >= CPUl_urgent] ;
CPU1 loc Rtl True]
t2 arr tl end
CPU1 urgent := 0; CPU1 urgent := 0;
(CPUl_loc_RthtZ True] (EPUl_loc_Eu 0>= CPUl_urgent] CPUL urgent =0 'CPU1_urgent = 0
tl end
CPU1 urgent := 0;
(CPUl_loc_EthtZ 0 >= CPUl_urgent]
CPU1 urgent = 0
t2 dis
CPU1L urgent = 0 (CPUl_loc_RtZ True
tl arr t2 end

CPU1 urgent := 0; CPU1 urgent := 0;

(CPUl_loc_Atl Rt2

0 >= CPUl_urgent] (CPUl_loc_EtZ

0>= CPUl_urgent]

CPU1 urgent = 0
t2 pre

(CPUl_loc_AtIWtZ

0>= CPUl_urgent]




